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h&ll—8
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aenffar &g frdw -
qRI wed (1-6)
YeI—1. WG —13 &1 o9 wfiem 8 — 1
Multiplicative inverse of number -13 is
@) o @) 1 @ = (@1 ()
U¥H—2 A 9 @ ue g g8nf - 1
Cube number of number 9 is
(a1) 27 (@) 81 (%) 343 (%) 729 ()
W¥A—3 WEIROT &6 §d &Y &1 el g3 & — 1
(@) HoT U X G HHAT (@) HAUA %100
100 TFHO<EY
HAURAXEL Wxﬂﬂxlﬂﬂ
{ﬂ} HHAY =100 {EJ el l: j

Correct formula to find the simple interest 15
A. Principal * Rate % Time
100
B. 100 x Principal
Time x Rate
C. Principal * Rate
Time = 100
D. Principal <Time = 100
Rate

UeH—4 5 fHETUTA 19T 61 god WY 240 ¥, A1 1 [T 9ET B ged 'O -~ 1
Price of 5 kg sugar 1s rupees 240 then Price of 1 kg sugar 15"
(31) a8 (@) 20 (") 100 (8) 240 ()



-5 fA=fafiaa 9 @ w9 Ruda =ras & ? 1

Which of the following polynonual is bionomial?

(31) 4x° (d) 5-3xy (F) 2x+3y-5  (d) 5x+2x ()
YeA—6 T B WUl 3T B0 & HIGT BT 6T BT — !

Sum of all interior angles of a quadrilateral 187

(1) 90" (@) 180" (@) 360" (&) 540" ()

Jfdergaceas 9o (7—11)

Very short answer type questions (7 —11)
yeH-7 98 W9 BT HE F@a Sy s W 200 B OO0 HIH qOl 69 e 8] Y 2

Find the smallest number by which the number 200 is multiplied to obtain a perfect cube?

Y9-8 BGd -4q Ud Tpg BT UGS BT — 2
Product of the polynomial - 4q and 7TPq is
TIRRIN AANIE = i isnsssnuiissamboninninssoss i Ty me e sl e vt s s 4 i S 48 o S 3 S 094 :
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yei—o el WHagw & U R BT 719 45 8, o qorieil & Gy @y Bef 7 2

How many sides does a regular polyeon have if each of its exterior angle is 457

ugA-10 oI g Hfa ABCD &1 gRHm sima dife — 2
Find the perimeter of given figure ABCD

D C

.......................................................................................................................................................................................



Ue—11 ) g AR A U oA Wa (R) WTE @Y @) wiidesen s i | 2
Find the probability of getting a red apple (R) in the given figure,

@)
@ ®® Green (G) = &Y
@ @ Red (R) — ool
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Y RICHS U9 (12—-21)
“ug (12—15)
Short answer type questions (12 - 15)
PART - A (12 - 15)
wed—12 fefafiad soF] @) ugey o /e # ¥ Iugad v v aifda @ — 4x1-4

Read the following statements and mark v on True / False appropriately

(i) E%gr 1354, 2 9 farosn =8 2 | e/ 3irey
Number 1354 is not divisible by 2, [True / False]
(i) =T 162875, 9 9 faary # | Hel / Sy
Number 152875 is divisible by 9. [True / False]

(i) afe &g wey 2 g 3 O Rwfaa & @ 98 w6 9 F fnfora 2 2
e /3y
If Any number is divisible by 2 and 3 then the number is divisible by 6. [True / False]
(iv) T 64X, 9 &1 7o &, afd X & a9 2 B e / 3y
Number 6 + % is a multiple of 9, if value of x is 2. [True / False]

ue—13 fy v e S @ forg &) gvg fRA U B Udw 3 @ WA U ¥ gv e
‘gred g¥g @1 ygaE #Y A" g m Raa W o e 9 ged’ /ued g w9
Iugad fawe forfday | 4
Two views are given next to each solid figure shown below. Identify the “view from above™ and
“side view™ corresponding to each solid figure and write the same in the blank space provided
below,



U¥i—14 400 SAfderd] W fFv 0 wed ¥ & W wrad Al @ e T8 s aret B
gea s d gwian ) ged o @1 g A9 R v gl & gar S -
2+2=4

A road survey was conducted on 400 people who did not follow traffic rules that are shown in the
pie chart, Read the pie chart and answer of the following question



(1) e wfod W e ared areHl @1 gae gret afdeat & ufdea sma S |

What percentage of people drive vehicle that are overloaded.
W An-.m _l-lll-ludlHl-lll-l|uu-lll-ll“ll--lll-||“|I-ll-l--ll-ll-llulu|-l|-l||ll||l-|n-dl-|l-l|ulHlH-lll'l-'l-l||-ﬂ||-||-|.l|-u--||l-ulu-nn-“rlll-ul- FRAREAREA B PR RN R PR PR BRI ER R R

@) twde T W A afeE @ wEn MW A GRE R 4w g a
syl R oiftvs 82

Find the difference of people who are without helmet by who are over speeding,
w A“SI _rll|r|lllllr'|'-Il'lIl"ll'rlllrII|'II-lllrlll1ll|!ll'l'lllllI'|"|-'|1I'I"|I'lll-IIrllIlllllllllrllII"Ir-|l'|"|IFllI!'H|"|II-1I!1+!I1'F‘|II"|Irillﬂlllﬂlll11ri‘b1|r1lr LR LR L R R R L R TR e LR LR T i

Ye—15 U AR Gl ABCD faan wan & |l aiv ot @ amar v e el
@1 gfef @for | 4x1=4

Given a parallelogram ABCD. Fill in the blanks on the basis of the defination and it's properties.
D C

A B
(i) AD= (BC/AB)

(i) ZDCB= (LBDA/ZLBAD)
(i) OC = (OB/OA)

(iv) mZLDAB+ mZCDA = (180"360"




AHNTHD U
Qvs—9q (16—21)

WI—16 U AER &3 6 &3%e 2304 THER 8| §9 TEN &F B 9ol sa dfAg| 4

Area of square region is 2304 m’.Find the side of square region.
L L b e o e e o b e o o A L e e
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Ued—17 UWEE & FOE] @1 99 wd g A @1 A s @i | 2+2=4

Find the value of the following using Laws of exponents,
(i) (3'+4"+5")

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

& [7) 2’

mﬂ-muﬁmﬂw;anngﬁmﬁﬁwﬁﬁuﬁ@ﬁwaﬁﬁmﬁmﬁmmm
gefifa e 242=4

Find four rational numbers between 2/3 and 3/5 and represent them numbers on number line.
RTOUTI I s v s G R A A A OSSR S

R R e R P N R R Ry Ry P N TR T N R R PR R P R PR TR TR T T PR T TN T

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

YeA—19 IM A 10,000 FUY H1 2 99 & fory 10 9RO #1 R W @HghEg & B I W
SuR forgr| ofe g8 g7 wva & Wy forgn sien o |1 rd A e IR BT 4
Ram borrowed Rs 10,000 for 2 years at the rate of 10% compounded annually. If he could have
borrowed at Simple Interest rate then what will be difference in both interests,



---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

Uvi—20 &1 Wl @1 90T 95 €| afe umell W gwd wWE ¥ 15 Afvw € ?ha‘ra‘m’r
W] W AT S ST |
Sum of two numbers 1s 95, If first number 1s 15 more than the second number then find both Lha
numbers.

A“Eq EAREAFAE SRR PR A S PR SRR B R R B PR S PR R R IR E AR RS R E AR EE EE EE E EAEE R PR PR R R IR PR PR

B R T R PR R N R P P A N T T ERA RN R PRI TA PRI ERTE R EA R A RE P AR RRF A iRt PR e R p R E e Rd e b A
PEREEAIE A ER AR P ES A Ba iR R RS R B R R IR PR R PR bR PR R P B R R e R R L e R T R e Fdpmibdres PREEEREd R dREarEREEAE R bR S LLEELT]
R R e e e R R e

WU R D R S R RS S SR PR PR PR R EEE R R ad

00 D000 00000 0000 0000 ) 00 000 0000 00 0000 0 000 0 B B BB M

YeH—21 WIel W AT BN UP €% rarare s @1 areE wed gu 25 e 7 14 W ae
21 of go @ a8 = w8 ol 5 'UE H 9¥ B g g8 s #ifrg - 4
A truck loaded with goods Travels 14 km in 25 minutes following the traffic rules, If the speed of
the truck remains the same how much distance will it cover in 5 hours 7

(S A . W, B erramrsmes s AT

P T L, L T T P P R P P P T T R PN P P S F PR T T T P T T R PR PR PRy PR PR PRy PRy PR TR PR TN T PR R PR T

00 BB 000 0 R R R A R E R R R R ERE AR PR R E R AR R

R L L L LR L TR R e e T R T R E R L R R L R R PR R L P P PR T R P PRSP e T



Fraarered e (22—-25)
Essay Type Questions (22-25)

g¥i-22 9899 ABCDEF &1 fafd=1 st & dfer wn & ok % angpfa & o o 8, &

48 BT HIBE FId B | 6
The Polygon ABCDEF is divided into different parts as shown in the figure then find the arca of

Polygon.

Or



freiforftaa &1 &a Hiforg— 3+3=6
Solve the following —
(A) U@ Haddd &1 &E%e 240em’ @ 3R Rwul 4 @ uEd @ o s0 90 8 gud
vl sma #iform | g s el aftre & aen feas afde @ s @ifg ?

The Area of a Rombus is 240 em’and the length of one of its diagonal is 30 em.Find the length of
the other diagonal, which diagonal is greater and How much,

(B) U U9 aa= w1 Sarg s Py, fIET amuad 1,54 m' o fraw s @1 sy

140 cm # |
Find the height of the cylinder whose volume is 1,54 m” and diameter of the base is 140 cm.

TITEIV. ANS, = (A wooverieroesoemessississssssoniasiateseosesssssessesss ek ot 8B SR s

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

we—23 fpfafiaa evet & qemave $ifbe (B & &) 343=6

Factorise the following expression.(Any two).
(i) 4p’-9q’ (1) X 48X+ Xy +8y
(i) X +6X+8 (iv)a'-b'

TIEEIY DS, — (1)) Seteeiesrr sttt linicsensos 8055015085454 R
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Ug9—24 TGS ABCD &1 Ya1 HIRAY BT AB=5cm, BC=4.5cm, AD=6¢m, HIUT A= 90" TT FIU]
B=105" 6
Construct a quadrilateral ABCD where AB =5 cm, BC =4.5 cm, AD=6 cm angle A = 90"and
Angle B = 1057

ST
OR
UH FHEGHA WXYZ @1 3991 dify Fe faol wy @un xz & awEgdl s
5.2cm @7 6.4cm E |
Construct a Rhombus WXY Z whose length of the diagonals WY and XZ are 5.2 cm and 6.4 cm

respectively.
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aer < el 13 uyvEt @1 gar ifew — 6

Draw the graph for the following tables of values, with suitable index.

ST g9 IR difE =T
AT 84 (B9d H) 1000 2000 3000 4000 5000
HERY & (B9 H) 80 160 240 320 400

Interest on deposit for a year,
Deposit (IN R) 1000 | 2000 3000 4000 5000
Simple Interest ( IN R) | 80 160 240 320 400

(i) FUT Ao o fawg | qoRdar 8 7
Does the graph passes through the origin.

(i) ATer™d & RN UR WYY 2500 H] 91f¥E =T ST HIFAT |

On the basis of graph.Find the interest on Rs 2500 for year.
gy Ans, —






